Weight Worksheets
(Metric)

Name Date

1. Tim goes to the market to buy fruits and vegetables. He weighs some string beans and some grapes.

List the weights for both the string beans and grapes.

The string beans weigh grams.

The grapes weigh grams.

2. Use tape diagrams to model the following problems. Keiko and her brother Jiro get weighed at the
doctor’s office. Keiko weighs 35 kilograms and Jiro weighs 43 kilograms.

a. What s Keiko and Jiro's total weight?

Keiko and Jiro weigh kilograms.

b. How much heavier i Jiro than Keiko?

liro is kilograms heavier than Keiko.
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